
SETS



Buildings
Set builder notation :

(o , D= { x c- R l Osx and x El }

= { x e IR : ox and x El }

E
= { all even numbers }

= { 2n : ne 7L }



Somecommogts ( NO : mengele)
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Comparing
We can compare

two nets A
,
B :

A c B A is a subset (NO : delmeugde) of B

Means that x c- A ⇒ x EB (Also written A EB)

A -- B A equals B
Means that both ACB and Be A

A €13 A is a proper
ruleset (NO : ekte delmengde ) of B

Means that ACB ,
and that F x c- B such that x ¢ A



Binayopw_ahom
We can perform operations on

pairs of nets .

Au B = union of A and B
= { x : x e A or x E B }

④
A

B

A n B -

- intersection (NO : mitt) of A ,
B

= {x : x e A and x E B }

Cr
.

A l B = difference of A and
B

= { x e A : x et B }



A B

A and B are disjoint ( NO : disjunkhe) if An B = ¢

A
'

is the complement (NO : komplemenkt)
of A - everything hot in A :

A
'
= {x : x ¢ A }

.

A

Ac is sometimes written as A- .

Node :
. It is clear from the content what

" everything
"
is

. If A c IR then A
'

also A
'
a IR

.



A x B is the Cartesian product (NO
: karknik product ) of A ,

B :

A x B = { (x , y) : x e A
, y EB } .

AZ = A x A

Thus
,

R2 -- IR x IR

1123 = Rx IR x R
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QUESTIONS ?

COMMENTS ?


